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Y = X1+X2+X3

= ji ,i-‘*  6e-3xl-zx2  dx,dx2  = j6 2ee2”2  (- ee3’l I~-“) dxz

= 1: 252”~  (1 _ e-3(Fr2))  dx2  = lz 2emZXZ - 2em3ytx2  dx2

= _ e-2x2  _ pY+Xz  1:  = ( -e-2Y _ 2e-3Y+Y)  + (e” + 2ew3Y)
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= 1 + 2e-3Y - 3ewZY

dlM%l  y > 0 ttW: F(y) = 0 ilH%l  y $ 0 ttR~thln'ht~l  differentiate tw”fJU&

y La116

f(y) = 2e-3Y( - 3) - 3eezY(  - 2)

= 6(eezY - e-3y),  y > 0

= 0 YGO
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g(y)=P(Y=y)=P(X=  $) = /1
Y/4  e-"

(y/4)!  '
y = 0,4,8,...

= 0 ti~nM-A4 7

huolla 7 b.ll~l2~ X tauAttllatP9~Ua~nWdotdoJd  pdf f(x) I< A tiflunt+

aa~~~~Q~mjoiaadoAtti~-gwl~  f(x) > 0 lltxIYi y = U(X)  iiiMobtilZSISBUni5lt~~J~~~Q~~

d maps mn  A hhlu  B ~lnln’iltal’h  y = u(x)  iln%I x ‘lurYlouuoJ  y h~~lih

x = w(y) tt~aJYailM?Mia:  y E B tTld  x = w(y) E A lal~l~ipla~l~atl~~t~J~U  Y = u(X)

h4in-h  y E B ttR’a  x = W(Y) c A twtnqfmrii  Y = y (n% u(x)  = Y) ttfi::  x = W(Y)

equivalent Th &?$I.6  pdf 9104  Y lh

g(y) = P(Y = y) = P(X = W(Y))  = f[NY)l YEB

= 0 hnTudiiu 3

f(x) = x!(33; x)!  (;)“(113)~-‘,  x = 0,  1,2,3

= 0 eiinaYYfiiQu  7

tal%wlla  pdf g(y) uQi%alt¶h%$.J  Y = X2 nlallLhJ y = U(X) = x2 171  map A

= Ix; x = 0, 1,2,3)  AWU B = (y; y = 0, 1,4,9)  hJT+J @J  \d y = x2 ~~liiUnlMh~~WiQ~Fl

Oh¶'lSfh.J b%illhRUb4 A = [x; x = 0, 1,2,  3) h.&Q 15lj x = w(y) = fi (bhi
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iihh 3 MJ$h X d pdf, f(x) = 2x ~Ufhh‘l%J+i1~U  7 ‘1x Y = 3X + 1 &JiJu”U

&kW~‘l  pdf llO.¶ Y
y=3x+l

G(Y) F P(Y f y) = P(3X  + 1 < y)

= P(X  < (y - 1)/3)

(Y-1)
zz 5, 2x dx

(y-l)

G ( y )  =  P(Y<y)=P(X&+)=F(+)

‘lUtd8 F th cdf (cumulative density function) vOJ X u”u%l
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G(Y) = P(Y<y)=P(Xa  -1nY)

= 1 - P(X < -In y) = 1 - F(-ln y)

d G(Y)
dy

= (J!+!$)(  2 ) lULdQu=  -1ny

g(Y) =  G’(Y)  = -F’(u)  (- $ ) = -2(-h y)  (-  + )

-21n  y

Y

P(a < Y < b) = P(~‘v5<x<;3q

s
3fi/2

=
3da/2 2x dx

P(a cc  Y < b) =

2 0 0 ST312
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